NSN 2530-01-467-0718 AeroBase
Disk Brake Parts Kit - Page 1 of 1 » Group

View Online at https://aerobasegroup.com/nsn/2530-01-467-0718

End Application:

P/n 170716 aboard 420 ft wagb coast guard vessels

Component Document Origin:

Industrial

Document Source:

0I5f0

Nonsupply Items And Quantities:

Dg511ww-g02, brake coil cmb-15/20 460v, lea; cd4-1081-01, brake spring, 12ea; 061s00- - - - zg, washer, flat, rglr-metric m6 din 125 b
zinc pl, 12ea; cd4-1082-g01, shifting plate and roller assembly cmb-15/20, lea; cd4-26-03, fitting plate, 1ea; cd4-1532-01, release lever,
lea; cd4-794-02, spring for shifting plate, 1ea; 001h006a012zg, bolt, hex hd, fine-metric m6x12 din 960-8.8 zinc plated; 4ea; 062w006 - - -
-zg, washer spring, m6, 4ea; cd4-1087-g01, brake lining assembly cmb-15/20, lea; cd4-1086-01, flux removal washer cmb-15/20, lea;
080c005r012zg, scr, pnh, cross-metric m5x12 din 7985-5.8 zinc plated; 3ea; 048h010r - - - zg, nut, hex, lock-metric m10, 2ea;
cd3-836-01, brake wheel cmb-15/20, lea; cd4-4193-01, restraining nut cmb-15/20, lea; 009m008r012ng, screw, soc hd cap crs m8x12
din 912 gr 12.9, 2ea; d4-27846-02, plug for cmb-5, 8, 10, 15, 20, lea; cd4-1084-01, dust proof seal, lea

End Item Source:

98523

End Item Name:

Hoist assembly

Shelf Life:

N/a

Unit Of Measure:

Demilitarization:

No

Fiig:

A23800


https://aerobasegroup.com

